Efficiency vs P,

~0.0%
o
£9.009
>
9.008
o
.007
0]
0.006
0.005
0.004
0.003
0.002
0.001

Ratio

=0.02
[
.018
(8]
9.016
5}
$.014
()
0.012
0.01
0.008
0.006
0.004
0.002

Ratio

—

1.0

+

i
¥

o
'_\(D
o%

N

1 10 . Gedf’

—=— DQM_mkFit_baseline_lowPT

—— DQM_mkFit_baseline6iter_lowPT

Vs

[y

o
©
a

[N
N
iR
) P Nt R P O SR R SO S
=)
N
w

Efficiency vs ¢

s 0.0l
o F
20.009F
(8] .
$.008F
o .
.007E
o :
0.006F:
0.005F
0.004F
0.003f:
0.0028:-F--+
0.001F -+

Ratio

1.0 B

||'-||||

TP @



	Contents
	Page 1


